Various topics
Basic Principles — Soft skills

Capital turnover

Capital turnover compares the annual sales of a business to the total amount of

its stockholders' equity. The intent is to measure the proportion of revenue that a

company can generate with a given amount of equity. It is also a general measure of the
level of capital investment needed in a specific industry in order to generate sales. For

example, capital turnover is very high in most services industries, and much lower in the
more asset-intensive oil refining industry. As an example of the calculation, if a company
has $20 million of sales and $2 million of stockholders' equity, then its capital turnover is

10:1.

There are a number of problems with the capital turnover concept that limit its use. These

issues are:

Leverage. A company may incur an excessive amount of debt to fund additional sales,
rather than acquiring more equity. The result is high capital turnover, but at an increased
risk level.

Profits. The ratio ignores whether a company is generating a profit, concentrating instead
on the generation of sales.

Cash flow. The ratio ignores whether a company is generated any cash flow.

Changes in capital. The capital turnover ratio is usually made as of a specific point in time,
when the amount of capital may be unusually high or low in comparison to any of a
number of points in time prior to the measurement date. This can yield an unusually high
or low turnover ratio. The problem can be mitigated by using an average equity figure in

the denominator.

Given these issues, valid usage of the capital turnover concept is certainly limited. At best,
it can be employed to examine asset investment levels across an entire industry, to gain a

general idea of which competitors appear to be making better use of their equity



Cash Conversion Cycle

The cash conversion cycle is a cash flow calculation that attempts to measure the
time it takes a company to convert its investment in inventory and other resource
inputs into cash. In other words, the cash conversion cycle calculation measures
how long cash is tied up in inventory before the inventory is sold and cash is
collected from customers.

The cash cycle has three distinct parts. The first part of the cycle represents the
current inventory level and how long it will take the company to sell this
inventory. This stage is calculated by using the days inventory outstanding
calculation.

The second stage of the cash cycle represents the current sales and the amount
of time it takes to collect the cash from these sales. This is calculated by using the
days sales outstanding calculation.

The third stage represents the current outstanding payables. In other words, this
represents how much a company owes its current vendors for inventory and
goods purchases and when the company will have to pay off its vendors. This is
calculated by using the days payables outstanding calculation.

Formula
The cash conversion cycle is calculated by adding the days inventory outstanding
to the days sales outstanding and subtracting the days payable outstanding.

Cash Conversion Cycle = Days Inventory Oustanding + Days Sales Outstanding - Days Payables Qutstanding

All three of these smaller calculations will have to be made before the CCC can be
calculated.

Days Inventory Oustanding +  Days Sales Outstanding -  Days Payables Outstanding

§ Inventary Accounts Receivable Accounts Payable
Cash Corversion Cycle = % 365
Cost of Sales Met Credit Sales Cost of Sales




Analysis

The cash conversion cycle measures how many days it takes a company to
receive cash from a customer from its initial cash outlay for inventory. For
example, a typical retailer buys inventory on credit from its vendors. When the
inventory is purchased, a payable is established, but cash isn’t actually paid for
some time.

The payable is paid within 30 days and the inventory is marketed to customers
and eventually sold to a customer on account. The customer then pays for the
inventory within 30 days of purchasing it.

The cash cycle measures the amount of days between paying the vendor for the
inventory and when the retailer actually receives the cash from the customer.
As with most cash flow calculations, smaller or shorter calculations are almost
always good. A small conversion cycle means that a company’s money is tied up
in inventory for less time. In other words, a company with a small conversion
cycle can buy inventory, sell it, and receive cash from customers in less time.

In this way, the cash conversion cycle can be viewed as a sales efficiency
calculation. It shows how quickly and efficiently a company can buy, sell, and
collect on its inventory.

Example

Tim’s Tackle is a retailer that sells outdoor and fishing equipment. Tim buys its
inventory from one main vendor and pays its accounts within 10 days in order to
get a purchase discount. Tim has a fairly high inventory turnover ratio for his
industry and can collect accounts receivable from his customer within 30 days on
average.

Tim’s days calculations are as follows:

o DIO represents days inventory outstanding: 15 days

o DSO represents days sales outstanding: 2 days

o DPO represents days payable outstanding: 12 days
Tim’s conversion cycle is calculated like this:

5 Days = 15 Days + 2 Days - 12 Days

As you can see, Tim’s cash conversion cycle is 5 days. This means it takes Tim 5
days from paying for his inventory to receive the cash from its sale. Tim would



have to compare his cycle to other companies in his industry over time to see if
his cycle is reasonable or needs to be improved.

Cash flow statement

From Wikipedia, the free encyclopedia

In financial accounting, a cash flow statement, also known as statement of cash flows, L is a financial

statement that shows how changes in balance sheet accounts and income affect cash and cash equivalents,

and breaks the analysis down to operating, investing and financing activities. Essentially, the cash flow
statement is concerned with the flow of cash in and out of the business. The statement captures both the
current operating results and the accompanying changes in the balance sheet.l!l As an analytical tool, the
statement of cash flows is useful in determining the short-term viability of a company, particularly its ability to
pay bills. International Accounting Standard 7 (IAS 7), is the International Accounting Standard that deals with

cash flow statements.

People and groups interested in cash flow statements include:

e Accounting personnel, who need to know whether the organization will be able to cover payroll and
other immediate expenses

e Potential lenders or creditors, who want a clear picture of a company's ability to repay

e Potential investors, who need to judge whether the company is financially sound

e Potential employees or contractors, who need to know whether the company will be able to afford
compensation

e Shareholders of the business.

Purpose[edit]

Statement of Cash Flow - Simple Example
for the period 1 Jan 2006 to 31 Dec 2006

Cash flow from operations $4,000
Cash flow from investing ($1,000)
Cash flow from financing ($2,000)
Net cash flow $1,000

Parentheses indicate negative values

The cash flow statement was previously known as the flow of funds statement.[2 The cash flow statement
reflects a firm's liquidity.

The statement of financial position is a snapshot of a firm's financial resources and obligations at a single
point in time, and the income statement summarizes a firm's financial transactions over an interval of time.
These two financial statements reflect the accrual basis accounting used by firms to match revenues with the
expenses associated with generating those revenues. The cash flow statement includes only inflows and




outflows of cash and cash equivalents; it excludes transactions that do not directly affect cash receipts and
payments. These non-cash transactions include depreciation or write-offs on bad debts or credit losses to
name a few.Bl The cash flow statement is a cash basis report on three types of financial activities: operating
activities, investing activities, and financing activities. Non-cash activities are usually reported in footnotes.

The cash flow statement is intended tol4!

1. provide information on a firm's liquidity and solvency and its ability to change cash flows in future
circumstances

2. provide additional information for evaluating changes in assets, liabilities and equity

3. improve the comparability of different firms' operating performance by eliminating the effects of
different accounting methods

4. indicate the amount, timing and probability of future cash flows

The cash flow statement has been adopted as a standard financial statement because it eliminates
allocations, which might be derived from different accounting methods, such as various timeframes for
depreciating fixed assets.l

History and variations|[edit]

Cash basis financial statements were very common before accrual basis financial statements. The "flow of
funds" statements of the past were cash flow statements.

In 1863, the Dowlais Iron Company had recovered from a business slump, but had no cash to invest for a

new blast furnace, despite having made a profit. To explain why there were no funds to invest, the manager
made a new financial statement that was called a comparison balance sheet, which showed that the company
was holding too much inventory. This new financial statement was the genesis of cash flow statement that is
used today.&

In the United States in 1973, the Financial Accounting Standards Board (FASB) defined rules that made it
mandatory under Generally Accepted Accounting Principles (US GAAP) to report sources and uses of funds,
but the definition of "funds" was not clear. Net working capital might be cash or might be the difference
between current assets and current liabilities. From the late 1970 to the mid-1980s, the FASB discussed the
usefulness of predicting future cash flows.[Z In 1987, FASB Statement No. 95 (FAS 95) mandated that firms
provide cash flow statements.kl In 1992, the International Accounting Standards Board issued International
Accounting Standard 7 (IAS 7), Cash Flow Statement, which became effective in 1994, mandating that firms
provide cash flow statements.2!

US GAAP and IAS 7 rules for cash flow statements are similar, but some of the differences are:

e |AS 7 requires that the cash flow statement include changes in both cash and cash equivalents. US GAAP
permits using cash alone or cash and cash equivalents.!

e |AS 7 permits bank borrowings (overdraft) in certain countries to be included in cash equivalents rather
than being considered a part of financing activities.2

e |AS 7 allows interest paid to be included in operating activities or financing activities. US GAAP requires
that interest paid be included in operating activities.2

e  US GAAP (FAS 95) requires that when the direct method is used to present the operating activities of the
cash flow statement, a supplemental schedule must also present a cash flow statement using the indirect
method. The IASC strongly recommends the direct method but allows either method. The IASC considers
the indirect method less clear to users of financial statements. Cash flow statements are most commonly
prepared using the indirect method, which is not especially useful in projecting future cash flows.

Cash flow activities[edit]

The cash flow statement is partitioned into three segments, namely:

1. cash flow resulting from operating activities;
2. cash flow resulting from investing activities;



3. cash flow resulting from financing activities.

The money coming into the business is called cash inflow, and money going out from the business is called
cash outflow.

Operating activities[edit]

Operating activities include the production, sales and delivery of the company's product as well as collecting
payment from its customers. This could include purchasing raw materials, building inventory, advertising, and
shipping the product.

Under IAS 7, operating cash flows include:21

e  Receipts for the sale of loans, debt or equity instruments in a trading portfolio

e Interest received on loans

e  Payments to suppliers for goods and services

e Payments to employees or on behalf of employees

e Interest payments (alternatively, this can be reported under financing activities in IAS 7)
e  buying Merchandise

Items which are added back to [or subtracted from, as appropriate] the net income figure (which is found on
the Income Statement) to arrive at cash flows from operations generally include:

e Depreciation (loss of tangible asset value over time)
e Deferred tax
e  Amortization (loss of intangible asset value over time)

e Any gains or losses associated with the sale of a non-current asset, because associated cash flows do not
belong in the operating section (unrealized gains/losses are also added back from the income statement).
e Dividends received general reserves

Investing activities[edit]

Examples of Investing activities are

e  Purchase or Sale of an asset (assets can be land, building, equipment, marketable securities, etc.)
e Loans made to suppliers or received from customers
e Payments related to mergers and acquisition.

Financing activities[edit]

Financing activities include the inflow of cash from investors such as banks and shareholders, as well as the
outflow of cash to shareholders as dividends as the company generates income. Other activities which impact
the long-term liabilities and equity of the company are also listed in the financing activities section of the cash
flow statement.

Under IAS 7,

e  Payments of dividends
e  Payments for repurchase of company shares
e  For non-profit organizations, receipts of donor-restricted cash that is limited to long-term purposes

Items under the financing activities section include:

e Dividends paid
e Sale or repurchase of the company's stock

e Net borrowings
e Repayment of debt principal, including capital leases



Disclosure of non-cash activities[edit]

Under IAS 7, non-cash investing and financing activities are disclosed in footnotes to the financial statements.
Under US General Accepted Accounting Principles (GAAP), non-cash activities may be disclosed in a footnote
or within the cash flow statement itself. Non-cash financing activities may includel

e Leasing to purchase an asset

e Converting debt to equity

e  Exchanging non-cash assets or liabilities for other non-cash assets or liabilities
e Issuing share

e Payment of dividend taxes in exchange for assets

Preparation methods[edit]

The direct method of preparing a cash flow statement results in a more easily understood report.22l The
indirect method is almost universally used, because FAS 95 requires a supplementary report similar to the
indirect method if a company chooses to use the direct method.

Direct method[edit]

The direct method for creating a cash flow statement reports major classes of gross cash receipts and
payments. Under IAS 7, dividends received may be reported under operating activities or under investing
activities. If taxes paid are directly linked to operating activities, they are reported under operating activities;
if the taxes are directly linked to investing activities or financing activities, they are reported under investing
or financing activities. Generally Accepted Accounting Principles (GAAP) vary from International Financial
Reporting Standards in that under GAAP rules, dividends received from a company's investing activities is
reported as an "operating activity," not an "investing activity."3

Sample cash flow statement using the direct methodX4!

Cash flows from (used in) operating activities

Cash receipts from customers 9,500
Cash paid to suppliers and employees (2,000)
Cash generated from operations (sum) 7,500
Interest paid (2,000)
Income taxes paid (3,000)
Net cash flows from operating activities 2,500

Cash flows from (used in) investing activities



Proceeds from the sale of equipment 7,500

Dividends received 3,000

Net cash flows from investing activities 10,500

Cash flows from (used in) financing activities

Dividends paid (2,500)

Net cash flows used in financing activities (2,500)
Net increase in cash and cash equivalents 10,500
Cash and cash equivalents, beginning of year 1,000
Cash and cash equivalents, end of year $11,500

Indirect method|[edit]

The indirect method uses net-income as a starting point, makes adjustments for all transactions for non-cash
items, then adjusts from all cash-based transactions. An increase in an asset account is subtracted from net
income, and an increase in a liability account is added back to net income. This method converts accrual-basis
net income (or loss) into cash flow by using a series of additions and deductions.23]

Rules (operating activities)[edit]
To Find Cash Flows

from Operating Activities
using the Balance Sheet and Net Income
For Increases in Net Inc Adj

Current Assets (Non-Cash) Decrease

Current Liabilities Increase



For All Non-Cash...
*Expenses (Decreases in Fixed Assets) Increase

*Non-cash expenses must be added back to NI. Such expenses may be represented on the balance sheet as
decreases in long term asset accounts. Thus decreases in fixed assets increase NI.

The following rules can be followed to calculate Cash Flows from Operating Activities when given only a two-
year comparative balance sheet and the Net Income figure. Cash Flows from Operating Activities can be found
by adjusting Net Income relative to the change in beginning and ending balances of Current Assets, Current
Liabilities, and sometimes Long Term Assets. When comparing the change in long term assets over a year, the
accountant must be certain that these changes were caused entirely by their devaluation rather than
purchases or sales (i.e. they must be operating items not providing or using cash) or if they are nonoperating
items.[261

e Decrease in non-cash current assets are added to net income

e Increase in non-cash current asset are subtracted from net income

e Increase in current liabilities are added to net income

e Decrease in current liabilities are subtracted from net income

e Expenses with no cash outflows are added back to net income (depreciation and/or amortization expense
are the only operating items that have no effect on cash flows in the period)

e  Revenues with no cash inflows are subtracted from net income

e Non operating losses are added back to net income

e Non operating gains are subtracted from net income

The intricacies of this procedure might be seen as,

For example, consider a company that has a net income of $100 this year, and its A/R increased by $25 since
the beginning of the year. If the balances of all other current assets, long term assets and current liabilities did
not change over the year, the cash flows could be determined by the rules above as $100 — $25 = Cash Flows
from Operating Activities = $75. The logic is that, if the company made $100 that year (net income), and they
are using the accrual accounting system (not cash based) then any income they generated that year which has
not yet been paid for in cash should be subtracted from the net income figure in order to find cash flows from
operating activities. And the increase in A/R meant that $25 of sales occurred on credit and have not yet been
paid for in cash.

In the case of finding Cash Flows when there is a change in a fixed asset account, say the Buildings and
Equipment account decreases, the change is added back to Net Income. The reasoning behind this is that
because Net Income is calculated by, Net Income = Rev - Cogs - Depreciation Exp - Other Exp then the Net
Income figure will be decreased by the building's depreciation that year. This depreciation is not associated
with an exchange of cash, therefore the depreciation is added back into net income to remove the non-cash
activity.

Rules (financing activities)/edit]

Finding the Cash Flows from Financing Activities is much more intuitive and needs little explanation.
Generally, the things to account for are financing activities:

e Include as outflows, reductions of long term notes payable (as would represent the cash repayment of
debt on the balance sheet)

e Orasinflows, the issuance of new notes payable
e Include as outflows, all dividends paid by the entity to outside parties
e Orasinflows, dividend payments received from outside parties



e Include as outflows, the purchase of notes stocks or bonds
e Oras inflows, the receipt of payments on such financing vehicles, €itation needed]

In the case of more advanced accounting situations, such as when dealing with subsidiaries, the accountant
must

e  Exclude intra-company dividend payments.
e  Exclude intra-company bond interest, citation needed]

A traditional equation for this might look something like,

Example: cash flow of XYZz:[1Z1[28[19]

XYZ co. Ltd. Cash Flow Statement
(all numbers in millions of Rs.)

Period ending 31 Mar 2010 | 31 Mar 2009 | 31 Mar 2008

Net income 21,538 24,589 17,046

Operating activities, cash flows provided by or used in:

Depreciation and amortization 2,790 2,592 2,747
Adjustments to net income 4,617 621 2,910
Decrease (increase) in accounts receivable 12,503 17,236 -

Increase (decrease) in liabilities (A/P, taxes payable) 131,622 19,822 37,856

Decrease (increase) in inventories = - -

Increase (decrease) in other operating activities (173,057) (33,061) (62,963)

Net cash flow from operating activities 13 31,799 (2,404)



Investing activities, cash flows provided by or used in:

Capital expenditures (4,035) (3,724) (3,011)
Investments (201,777) (71,710) (75,649)
Other cash flows from investing activities 1,606 17,009 (571)
Net cash flows from investing activities (204,206) (58,425) (79,231)
Financing activities, cash flows provided by or used in:
Dividends paid (9,826) (9,188) (8,375)
Sale (repurchase) of stock (5,327) (12,090) 133
Increase (decrease) in debt 101,122 26,651 21,204
Other cash flows from financing activities 120,461 27,910 70,349
Net cash flows from financing activities 206,430 33,283 83,311
Effect of exchange rate changes 645 (1,840) 731
Net increase (decrease) in cash and cash equivalents 2,882 4,817 2,407




Quick ratio (Acid test ratio)

In finance, the quick ratio, also known as the acid-test ratio [ is a type of liquidity

ratio @ which measures the ability of a company to use its near cash or quick assets to
extinguish or retire its current liabilities immediately. Quick assets include those current
assets that presumably can be quickly converted to cash at close to their book values. It is
the ratio between quickly available or liquid assets and current liabilities.

A normal liquid ratio is considered to be 1:1. A company with a quick ratio of less than 1 cannot
currently fully pay back its current liabilities.

This ratio is considered to be much better and reliable as a tool for assessment of liquidity
position of firms. lcitation needed]

Quick Ratio = liquid assets / Quick Liabilities

Note that inventory is excluded from the sum of assets in the quick ratio, but included in

the current ratio. Ratios are tests of viability for business entities but do not give a complete
picture of the business' health. If a business has large amounts in accounts receivable which are
due for payment after a long period (say 120 days), and essential business expenses

and accounts payable due for immediate payment, the quick ratio may look healthy when the
business is actually about to run out of cash. In contrast, if the business has negotiated fast
payment or cash from customers, and long terms from suppliers, it may have a very low quick
ratio and yet be very healthy.

More detailed analysis of all major payables and receivables in line with market sentiments and
adjusting input data accordingly shall give more sensible outcomes which shall give actionable
insights.

Generally, the acid test ratio should be 1:1 or higher; however, this varies widely by industry.&! In
general, the higher the ratio, the greater the company's liquidity (i.e., the better able to meet
current obligations using liquid assets).

Shareholder Value (SV)

Shareholder value is the value delivered to the equity owners of a corporation due to
management's ability to increase sales, earnings, and free cash flow, which leads to an increase
in dividends and capital gains for the shareholders.

Shareholder value is the financial worth owners of a business receive for owning shares in the
company. An increase in shareholder value is created with a company earns a return on invested
capital that is greater than its weighted average cost of capital. Put more simply, value is created for
shareholders when the business performs better than they expect it to.




Creation of Shareholder Value

When

ROIC > WACC

Where;
ROIC = Return on Invested Capital
WACC = Weighted Average Cost of Capital

Since the value a company and its shares are based on the net present value of all future cash flows,
that value can be increased or decreased by changes in cash flow and changes in the discount rate.
Since the company has little influence over discount rates, its managers focus on investing capital
effectively to generate more cash flow with less risk.

How to Create Shareholder Value

In order to maximize shareholder value, there are three main strategies for driving profitability in a
company: (1) revenue growth, (2) operating margin and (3) capital efficiency. We will discuss in the

following sections the major factors in boosting each of the three measures.

Shareholder Value

Revenue Growth Operating Margin Capital Efficiency
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#1 Revenue Growth :
For any goods and services businesses, sales revenue can be improved through the strategies of
sales volume increase or sales prices inflation.

Increasing Sales Volume : A company would want to retain its current customers and keep them
away from competitors to maintain its market share. It should also attract new customers through

referrals from existing customers, marketing and promotions, new products and services offerings,
and new revenue streams.




Raising Sales Price : A company may increase current product prices as a one-time strategy or
gradual price increases throughout several months, quarters, or years to achieve revenue growth. It
can also offer new products of advanced qualities and features and price them at higher ranges.

Ideally, a business can combine both higher volume and higher prices to significantly increase
revenue.

#2 Operating Margin

Beside maximizing sales, a business must identify feasible approaches to cost reductions leading to
optimal operating margins. While a company should strive to reduce all its expenses, COGS (Cost of
Goods Sold) and SG&A (Selling, General, and Administrative) expenses are usually the largest
categories that need to be efficiently managed and minimized.

Cost of Goods Sold (COGS) : When a company builds a good relationship with its suppliers, it can
possibly negotiate with suppliers to reduce material prices or receive discounts on large orders. It
may also form a long-term agreement with the suppliers to secure its material source and pricing.

Many companies use automation in their manufacturing processes to increase efficiency in
production. Automation not only reduces labor and material costs, but also improves the quality
and precision of the products and thus largely reduces defective and return rates.

Return management is the process by which activities associated with returns and reverse logistics
are managed. It is an important factor in cost reduction because a good return management
process helps the company manage the product flow efficiently and identify ways to reduce
undesired returns by customers.

Selling, General, and Administrative (SG&A) Expenses : SG&A is usually one of the largest
expenses in a company, therefore being able to minimize them will help the company achieve an
optimal operating margin. The company should tightly control its marketing budget when planning
for next year’s spending. It should also carefully manage its payroll and overhead expenses by
evaluating them periodically and cutting down unnecessary labor and other costs.

Shipping cost is directly associated with product sales and returns. Therefore, good return
management will help reduce the cost of goods sold as well as logistic cost.

#3 Capital Efficiency

Capital efficiency is the ratio between dollar expenses incurred by a company and dollars that are
spent to make a product or service, which can be referred to as ROCE (Return on Capital Employed)
or the ratio between EBIT (Earnings Before Interest and Tax) over Capital Employed. Capital
efficiency reflects how efficiently a company is deploying its cash in its operation.

o
=1 EBIT
%Capital Employed

ROCE =

Capital employed is the total amount of capital a company uses to generate profit, which can be
simplified as total assets minus current liabilities. A higher ROCE indicates a more efficient use of
capital to generate shareholder value, and it should be higher than the company’s capital cost.



Property, Plant, and Equipment (PP&E) : To achieve high capital efficiency, a company
would first want to achieve a high return on assets (ROA), which measures the company’s net
income generated by its total assets.

Over time, the company might also shift to developing its proprietary technology, which is a system,
application or tool owned by a company that provides a competitive advantage to the owner. The
company can then profit from utilizing this asset or licensing the technology to other companies.
Proprietary technology is an optimal asset to possess because it increases capital efficiency to a
great extent.

Inventory : Inventory is often a major component of a company’s total asset, and the company
would always want to increase its inventory turnover, which equals to net sales divided by average
inventory. A higher inventory turnover ratio means that more revenues are generated given the
amount of inventory. Increasing inventory turns also reduces holding costs, consisting of storage
space rent, utilities, theft and other expenses. It can be achieved by effective inventory
management, which involves constant monitoring and controlling of inventory orders, stocks,
returns or obsolete items in the warehouse.

Besides, inventory buying efficiency can be greatly improved by using the Just-in-time (JIT) system.
Costs are only incurred when the inventory goes out and new orders are being placed, which allows
companies to minimize costs associated with keeping and discarding excess inventory.

Shareholder Value in Practice

There are so many factors that influence shareholder value it can be very difficult to accurately
attribute the causes in its rise of fall.

Managers of businesses constantly speak of “generating shareholder value” but it is often more of a
soundbite than an actual practice. Due to a host of complications, including executive compensation
incentives and principal-agent issues, the primacy of shareholder value can sometimes be called
into question.

Businesses are influenced by many outside forces and thus the impact of management vs external
factors can be very hard to measure.

Standard cost

A standard cost has been described as a predetermined cost, an estimated future cost,

an expected cost, a budgeted unit cost, a forecast cost, or a "should be" cost. Standard costs
are often a part of a manufacturer's annual profit plan and operating budgets. Standard
costs will be established for the following year's direct materials, direct labor,

and manufacturing overhead. If standard costs are used, there will be:

e astandard cost for each unit of input (e.g., $20 per hour of direct labor)

e astandard quantity of each input for each unit of output (e.g., 2 hours of labor for each product)



e astandard cost for each unit of output (e.g., $20 X 2 hours = $40 of direct labor per product)
Under a standard cost system, the standard costs of the manufacturing activities will be
recorded in the inventories and the cost of goods sold accounts. Since the company must
pay its vendors and production workers the actual costs incurred, there are likely to be
some differences. The difference between the standard costs and the actual manufacturing
costs is referred to as a cost variance and will be recorded in separate variance accounts.
Any balance in a variance account indicates that the company is deviating from the
amounts in its profit plan.

While standard costs can be a useful management tool for a manufacturer, its external
financial statements must comply with the cost principle and the matching principle.

Therefore, significant variances must be reviewed and properly reported as part of the cost
of goods sold and/or inventories.

AccountingCoach PRO includes forms to assist in a better understanding of standard costs
and their related

XpNUOTOOLKOVOMLKOL APLOMOSELKTEC

1 A&iKtNng YEVIKNG PEVOTOTNTAG: OUVOAO KUKAODOPOUVTOG EVEPYNTLKOU / cUVOAO
BpOoXUTPOOECUWV UTIOXPEWCEWV

15.306 / 31.209 = 0,49 dopég

O aplBPoSEeiKTNG AUTOC SEIXVEL TO LETPO PEVCTOTNTOG LLAG EMLXELPNONC KaL TO TteEpLBwpPLO
aodaleiag, wote auth va eival og B€on va avtamokplBel 6TV MANPWUN TWV KABNUEPLVWV
QTALTNTWY UTIOXPEWOEWV. 000 TLo TIPOPAEPLUEG €lval OL ELOPOEC XPNMATWY HLaG ETLXE(pnONG TG00
glval yevikotepa amoSeKTOC €vag Lo XapnAog Seiktng, av Kol auto eival cuvaptnon Kuplwg tou

kKAGdou oToVv omolo avrKeL n enweipnon.

2 Aciktng taxvutntag KukAodopiag evepyntikol: KUKAOG epyaciwyv / yeviké cUVOAo evepynTikou :

106.856 / 44.649 = 2,4 dopEg

O ev Aoyw aplBuodeiktng mapexel evOel€els yLa TO TOOO N eMLXELpNON XPNOLUOTIOLEL EVIATIKA T
TIEPLOUCLAKA TNG OTOLXELO TIPOKELWEVOU VA TIPAYUOTOTIOLEL TG TWANOELG TNG. ATIO QUTO daivetal av
uTtapyeL umepenévbuon kepahaiwv oTNV eMNiyeipnon og oxéon He To UPOC TWV MWANTEWVY TNG.
BE£Bata, Ta otolxela autou Tou deiktn ennpedlovtal o peyaAo Babud amno tn pébodo Twv
anooPéoewv ou akoAouBei n Sloiknon tng etatpeiag, SnAadn amod To av akoAlouBeital MOALTIKN
auéavopevng f otabepng andoPeonc. Mevikotepa, 660 UPNAOTEPOG elval 0 SEIKTNG AUTOC TOGO TLO
QTMOTEAECUATIKA £XOUV XPNOLUOTIOLNOEL Ta MEpLloUoLOKA TNG otolxeia. Eniong, elval xpriowo va

yivetal oUyKkpLon aUTOU Tou SEIKTN LLE TIG LOOPPOTTLEG TOU KAASOU.



3 Asiktng TaxvtnTag kukAogopiag anofepudtwv: K66To¢ NTWAACEWY / anodépata :

84.347 / 10.523 = 8, 365/8 = 46 nuépec

O aplBpodeiktng autog entpenel va SoU e MOoeg popeg avavewBnkav Ta anobépata tng
ETXELPNONC OE OXEoN HE TIC MWANROELS TNG LECA OTN XPNon. Xpnowdomnoleital dnAadn yia va
StamiotwBel N TaxvTNTA e TNV OTola Ta anoBgpato SLaTtEBnKaV Kol avIKOTooTadnKav Katd
SLapKela TG Xprnonge. Av SLalp€oouple To 365 (OUVOALKEG NUEPEG TOU £TOUG) E TOV apLlBUO auTdv
SLOTTLOTWVOU IE TOV apLOUO TWV NUEPWV TIOU TTAPEUELVAV TA OMOBEUOTA OTNV EMLXELPNON WOTIOU va

nwAnBouv.

4 Aciktng TaxvTNTOC EloTtPAENG AMOULTACEWV: KUKAOG EPYOCLWV / OUITOLTAOELG :

106.856 / 1.593 = 67 nuépeg

O OUYKEKPLUEVOC SeIKTNG KATASEIKVUEL AV OL OTALTAOELG LOG ETLXEIPNONG elval TTOAU LeYAAEC OE
oUYKPLON HE TIG TTWANOELG TNG. AVAAOYOG LLE TNV TOXUTNTA ELOTIPAENG TWV ATIALTAOEWYV €lval 0
XPOVOG SE0UELONG TWV ATALTACEWV. MeydAn TaxuTNTA oTNV £(0TPAEN TWV ATOLTCEWY CNUOIVEL
ULKpOTEPN MBavotTnTa Inuwv amnod entopaleic meddtes. H mapakoAouBnon tng taong eival

SLOYPOVLKA XPAOLUN YLa TNV a€LOAGYNON TNE TTOLOTNTOC KAL TNG PEVCTOTNTOG TWV OMALTHOEWV.

5 Agiktng KAAUVYP NG TOKWV: KEPSN TTPO TOKWV Kot GOpwV / UVOAO XPEWOTIKWV TOKWV:

2.470 / 338 = 7,3 bopéc

O aplBpodeiktng auTog davepwvel TN oXEON UETOEL TwWV KOBapwv KEPSWV ULaG EMLXEIPNONG Kot
TWV TOKWV UE TOUC OTtolou¢ auTh emiBapuUveTal LEoa oTn xpnon yla ta Eéva kepahata. Anotelet
SnAadn éva PETPO TNC SAVELAKAG KOTAOTOOHNG TNG O€ OXEON KE TN SUVAULKOTNTA TNC VA ETILTUYXAVEL
KEPSN, KaBwC epdavilel TV LKAVOTNTA TNG va e€odAel TOUG TOKOUC TwV EEVWV KebaAaiwv amo ta

KEpON TNC.

6 AcikTnNG OLKOVOMIKA G LOXAEUOEWG: YEVIKO 0UVOAO evepynTikol / cUvolo L8iwv kedpalaiwy :
44.649 /12.798 = 3,4 dopég

Me Tov ev Aoyw Seiktn mapatnpoU e TNV ENibpacn MOV AOKEL N XPNOLUOToiNoN TwV SAVELAKWY
kepahaiwv otnv amodotkotnTa TWV olwV KebaAaiwv TnG eTalpeiag. Avaloya e To eninedo Tou
Selktn peyaAUTtePOG, 100G 1 LIKPOTEPOG TNG Hovadag n enibpaon amod tn xpnon EEvwy kedaAaiwv

ota KEPSN TNG EMixedpnong eival avtiotoya BeTikn Kal emwddeAnG, LNSEVLKA 1 ApvNTIKN.

7 Agiktng anodotikdtntag Woiwv kedpalaiwv: kabapd kEpdn xpRong / cOvolo 6iwv kedpalaiwy :

1.849 /12.798 = 14,45%



O apBuodeikTng auTOC amelkovilel TNV KepSoPopa SUVAULKOTNTA LLAG ETILXELPNONG KL TTAPEXEL
€voelfn Tou Katd MOoo eMITeLXONKE 0 OTOXOC MPOYLLATOTOINONG EVOC LKOVOTIOLNTLKOU
OMOTEAECHUATOC Ao TN XPHoN Twv Kedpalaiwv Tou petdyou. Me dAAa AdyLa, HETPA TV
OTMOTEAECHUATIKOTNTA LLE TNV OTola Ta Kedpalata Twv GopEwV TG EMXEPNONC amaoyoAouvtal o
autnv. AntoteAei Tov Baolko deiktn tov omoio n dloiknon pag etalpeiag os mepintwaon BeTkOU

OMOTEAEOHATOC TELVEL VA TIPOPBAAEL LLE TOV TILO ETILAVI) TPOTIO OTOV ETHOLO AMOAOYLOUO XPrONG.

8 Aciktng anodotkotnTag EvepynTikoU: Kabapd kEpdn xpriong / ouvolo evepyntikol X 100 :

1.849 / 44.649 = 4,14%

O GUYKEKPLUEVOC OPLBUOBEIKTNG LETPAEL TNV OTTOS0CN TWV CUVOALKWYV TIEPLOUCLAKWY OTOLXELWV
MLOG ETIXELPNONG KO ETILTPETEL TNV A§LOAOYNON TNG WTOTEAECHATIKOTNTAG TG AEtToupyiag tng. O
SelktnNg paVEPWVEL TNV LKAVOTNTA TNG VA UMOPEL val ETLIOEL OLKOVOLKA KOl VOL TIPOOEAKUOEL

kedaAala ou poodEpovtal yla eMEVOUOH, «aviapeBoviac» ta avaioya.

9 AciKTNG MELKTOU KEPOOUG: MELKTA KEPSN EKUETAAAEUGNG / KUKAOG EPYAOLWV :

22.508 / 106.856 = 21%

O aplBodeikTnNg QUTOG, YVWOTOG KOl WG LELKTO TteplOwpLo kKEPSoug, ival TOAD onUaAvTIKOC SLOTL
TIOPEXEL £va LETPO a€LOAOYNONG TNG AMOSOTIKOTNTOG TWV ETIXELPNOEWV. Agixvel SnAadn tn
AELTOUPYIKI ATTOTEAECUATIKOTNTA LLOG ETILXELPNONG KAL TNV TIOALTIKA TLHWV oUTNC. 000 PeyalUTEPOG
elvat o aplBuodelkTnG LELKTOU KEPSOUG TOGO KAAUTEPN amod anoPewd kepdwv ival n B€on Tng
enuyeipnong SLOTL umopetl va avTETWITioEL, XWpPIc SUOKOALQ, pLa evEeXOUEVN avénaon Tou KOOTOUG
TWV MWAOUPEVWY TIPOLOVTWYV TNC. Evag uPnAog Seiktng LelkToU KEPSOUC SELXVEL TNV LKAVOTNTA TNG

Sloiknong piag emyeipnong va emtuyyavel ONVEG ayopég Kat va TIwAel og UPNAEC TLEG.

10 Aciktng kaBapol kEpSoug: kabapd kEpdn xpriong / KUKAoG EpyacLwy :

1.849 / 106.856 = 1,73%

O apBPoBEeiKTNG AUTOC, YWWOTOG Kal wg Kabapo meplBwplo kEpSoucg, mpoodlopilel To kEpSog anod
TLG AELTOUPYIKEG SpacTnPLOTNTEG, SNAASN TO TOCOOTO KEPSOUC TTOU HEVEL OTNV ETIXEIPNON LETA TNV
adaipeon amno tig Kabapég MWANCELS TOU KOOTOUG MWANBEVTWY Kol Twv Aomwv e€68wv. Oco

peyaAutepog ival o aplBuodeiktng t6oo o enikepdNn¢ elval n emixeipnon.

0 6¢eiktng «kedalatonoinon / nwARoeg»
H oxéon petaév tn¢ xpnuatiotnplakns aioc (kepadaiomnoinong) kot Tou KUKAoU Epyaciwv
(nrwAnocewv) piacg eLonyuevng oto XpnuUatiothpLo etalpeios

O Aoyocg «kepalaionoinon / nwAnosic» — price / sales patio (PSR) beixvetl téoo SnuoplAnc sivat



ULa eTALPEiD OTOUG EMEVOUTIKOUG KUKAOUG UE BAon TNV IKAVOTNTA TNG VO «TTAPAYEL» TWANOCELS OE

UL CUYKEKPLUEVN XPOVLAL.

Margin vs MarkUp

Posted on 03/05/2009 by Paris Koutroumanos

‘Eva amo ta mio cofapd BEpata mou avieTwilouv ol avBpwroL mou aoXoAoUVTaL PE TO EUMOPLO lval O
UTTOAOYLOMOG TOU ULKTOU KEPSOUC UE TO OTolo peTamwAoUV Ta epmopelpatd Tous. Adopun ylo to apbpo
otaOnKe Wl culntnon mou eixape tuxaia pe éva GiAo HaG, VEO ETIXELPNMOATIO TTOU LETATIOUAQ 16N YApou
KalL TTou o€ pa Gk culitnon Stamiotwaoe 0Tl TEAKA Sev « SOUAEVEL» e TT0G00TO 10% , OTWC TioTeEVE, AAAA

Ayotepo. (ONa ta vouuepa ato apBpo eivat uTOBETIKA).

Ag umoBéooupe OTL éva KATAoTNHA ALOVIKAG ayopdlel xovOplkog éva mpoidv 100€ kat BéAeL va to
UETOMOUAGEL e Alaviko kEpdog 10%. To ocuxvo AdBog mou yivetal 6w elval OTL oL mepLocOTEPOL

ETUXELPNMATIEG AVOlyOUV TO CUPTAPL, TTOLPVOUV TO KOUTILOUTEPAKL KOl TTANKTPOAOYOUV:

100+10% = kol maipvouv cav anotélecua 110
To AdBog €ykeltal 6To yeyovog OTL e aUTOV Tov TPOTo UTtoAoyilouv TNV T TTWANGNG HE Ul pocalénaon

TIOU OTOUG aYYALKOUG EUITOPLKOUC OpoUG TNV ovoudloupe MarkUp (papk-ar).

To AdBog eival o EekdBapo va pavei otnv mepintwaon mou o EUnopog anodacioel LETA amod Eva SLaoTnua,
Ue okoro va SlwEel Ao amdBepa tou, va BAAeL pLa mpoodopd pe ékmtwon 10% , WOoTe va TTOUANoEL XWwpPLg

«XaooUpa» TA TEAEUTALO KOPUATLA. ZAVOTIAPVEL TO KOUTILOUTEPAKL KL TTANKTPOAOYEL

110-10% kol to amotéAeopa tou Ba mapet eivat 99,
SnAadn edv kavel ékmtwon 10% Ba « urel péoa Kat Eva eV pw» !
To AdBoc¢ efnyeital we g€ng: Q¢ mocooto képSoug Margin Bswpeital To mMocoatd mou efdyetal and tov €EAG
tomno:

(Tw) NWARong — Ty ayopdc) / Tyl mwAnons

Y10 mapadelypa pag (110-100)/110 = 10/110 = 0,0909 6nAadr) mocooto kEpdoug 9,09% kat oxL 10% !

Ondte, e@v BENoUE va TTOUACOUE KATL TToU ayopdcoape 100€ pe 10% KEPSOC MPEMEL VA TTANKTPOAOY GOUE

OTO KOUTILOUTEPAKL LAG 100 / 90% = 111,11



Tooo mpémeL va to ouArooupe av Béhoupe va €xoupe 10% kéEpdog. EAv og autd To Mood adalPECOULE TO
10% , &énAadn, 111,11 — 10% = 100 pag Sivel 100, 6co 6nAadn to ayopacape. [Mpoooxn Aoutdv otav

uTtoAoyilete TIHEG MWANONG KO LNV Eexvate OTL To Margin elval auto mou cog eviladEpel kat oxL to MarkUp.



